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o ck
o ca
Ta

4.400 (m)

10.0  (kN/n?)
24.5  (kN/m)

30.00 (° )
19.0  (kN/m*)

0.577
0.0  (kN/m)
178.95 (KN/n?)

1.50
1/6 B
1.50

30 (N/mm*)
10.00 (N/mm?*)
0.45 (N/mm*)

160 (N/mm*)

)

No.



§2
2.1

CLP  (H)4400x (B)2900
0.130

>

10kN/m?

4.400

H=

B= 2.900

)
'J[

No.



§3
3.1
3.1.1
@
2V 2 H e Qqu [0}
(kN) (kN) (n) Fs Fs (kN/? )
277.98 75.98 0.419 3.57 2.11 178.95 12.76 | 0.K.
0.483 1.50 1.50
NN
e = 0.419

178.95

12.76

No.



No.

3.1.2
@
ZV 2 H e Qqu [0}
(kN) (kN) (m) Fs Fs (kN/m? )
250.28 75.98 0.472 3.20 1.90 170.58 2.02 | 0.K.
0.483 1.50 1.50

170.58

2.02




3.2
3.2.1

3.2.2

No.

b (mm) 1000 1000
d (mm) 90 260
D22 - 7.5 D22 - 7.5
2
As () 2903 2903
X (mm) 55.1 113.1
Y N ) 1.42 x 10° 80.45 x 10°
3 3
S ) 4.72 x 10 58.85 x 10
ogc 0.72 6.40
(N/mm*) o ca 10.00 10.00
gs 6.8 124.7
(N/mm*) o sa 160 160
T 0.05 0.23
(N/mm*) T ca 0.45 0.45
b (mm) 1000 1000
d (mm) 260 90
D22 - 7.5 D22 - 7.5
2
As () 2903 2903
X (mm) 113.1 55.1
y D) 80.45 x 10° 3.44 x 10°
3 3
S 0 19.39 x 10 22.08 x 10
gc 6.40 1.74
(N/mm*) o ca 10.00 10.00
gs 124.7 16.5
(N/mm*) o sa 160 160
T 0.07 0.25
(N/mm*) T ca 0.45 0.45




§4

4.1

4.1.1

4.2

D

1.000 m

2)

x y)

No.



4.2.1
€))
1
A X y A X Ay
(m (m (m) (m (m (m) (m)
2.000x 4.400= 12.760 | 1.450 | 2.200 |  18.5020 |  28.0720
al- 0.170x 0.900= -0.153 | 0.215| 3.950| -0.0329 |  -0.6044
b| -1/2x 0.170x 3.200= -0.272 | 0.243 | 2.433 |  -0.0661 | -0.6618
cl- 2.300x 4.100= -9.430 | 1.450 | 2.350 | -13.6735| -22.1605
d|-1/2x 2.300x 0.170= -0.196 | 1.833 | 0.243| -0.3593 | -0.0476
el- 0.300x 4.270= -1.281 | 2.750 | 2.265| -3.5228 | -2.9015
1.428 0.8474 1.6962
al
Vo=SA L= 1.428 x 1.000 = 1.428 (n*)
V =Vo yc= 1.428x 245= 34.99 (kN) B
SA X 0.8474
X s A 1.428 0.593 (m)
SA y 1.6962 ®
y s A 1.428 1.188 (m)
@
1
A X y A X Ay
(m (m (m) (m (m (m) (m)
2.770x 4.270= 11.828 | 1.515 | 2.265| 17.9104|  26.7904
a|-1/2x 0.170x 3.200= -0.272 | 0.187 | 1.367| -0.0509 |  -0.3718
bl - 0.170x 0.170= -0.029 | 0.215 | 0.215| -0.0062 |  -0.0062
C|-1/2x 2.300x 0.170= -0.196 | 1.067 | 0.187 | -0.2091 |  -0.0367
11.331 17.6532 | 26.3757
Vo=SA L=11.331 x 1.000 = 11.331 (n°)
V =Vo ys= 11.331 x 19.0 = 215.29 (kN)
SA X 17.6532
X T sA T 1331 1.558 (m)
SA y 26.3757 e
y s A 11.331 2.328 (m)

No.



4.2.2
V =g b L=10.0x 2.770 x 1.000 = 27.70 (kN)
x =B -2 = 2.000- 271 1 515(m)
2 2
4.2.3
W sin(w-¢)

cos(w-¢ -0 -a )

Pa (kN/m)

W (kN/m)

W ¢)

® ¢)

g ¢)

a ¢)
V =Pa sin(6 +a) L
H =Pa cos(® +a) L

Vo, H: (kN)
. )  L=1.000 (m)

— .
~

No.



No.

h =  4.400 (m)
Pa
a = 0.00 () kN/m)
W o= 130.54 (kN/m) [ 25.20] 10y
w = 60.2¢)
5 = O.OO(O) 750 §
¢ = 30.00 ()
50.0]
25.0]
084 50 60 70 8 90
w(C)
ba 130.54 x sin(60.20 - 30.00)
& 7 “cos (60.20 - 30.00 - 0.00 - 0.00)
= 75.98 (kN/m)
RN R AR R R RN R R AR RRRRRRRRRRN NI
w Pa W
65.00 74.418 106.28
. 64.00 74.978 | 111.16
60.20 63.00 75.416 | 116.13
62.00 75.728 121.19
61.00 75.913 126.34
* 60.20 75.976 130.54
60.00 75.974 131.59
59.00 75.907 136.94
58.00 75.731 | 142.43
57.00 75.415 | 148.01
56.00 74.979 153.73
V = 75.98 x sin( 0.00 - 0.00) x 1.000 = 0.00 (kN)
H = 75.98 x cos( 0.00 - 0.00) x 1.000 =  75.98 (kN)
X = 2.900 (m)
y = LA’OO: 1.467 (m)
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No.

8§85
5.1
1)
>V tand +C B L
Fs = = S H Fsa
Fs
Fsa : Fsa = 1.50
>V (kN)
>H : (kN)
tand :
tand = 0.577
C C = 0.0 (kN/m*)
B B = 2.900 (m)
L ( ) L= 1.000 (m)
2)
2 Mr
Fs = s Vo Fsa
Fs :
> Mro: (kN m)
> Mo : (kN m)
Fsa : Fsa = 1.50
d e
g = ZMr-2M
- TV
B
e = > T d
>V (kN)
> Mr (kN m)
> Mo (kN m)
B B = 2.900 (m)
e
1
e 6 B

10



3

Qr,Q2 -
2 Mr :
2 Mo :

>V

o ® r

(KN/m?)
(N m)
(N m)
(kN)
B = 2.900 (m)
L =

B
S - d

2 sV
T3 gL
(o} >V 6 e
¢ B L CF g

2 sV
® T3e-0 L
1.000 (m)

(m

(m

)

No.

11



5.2
5.2.1

D

2)

No. 12

No v H X y Mr Mo
(kN) (kN) (m) (m) (kN m) (kN m)
1 34.99 0.593 | 1.188 20.75
2 215.29 1.558 | 2.328 335.42
3 27.70 1.515| 4.400 41.97
4 75.98 | 2.900 | 1.467 111.46
z 277.98 75.98 398.14 111.46
3
2
1 —Z
U
Fs = >V p +c B L 277.98 x 0.577 + 0.0 x 2.900 x 1.000
B T H B 75.98
= 2.11 Fsa = 1.5
> Mr 398.14
Fs = s Mo 11146 3.57 Fsa = 1.50
R
> Mr - X Mo 398.14 - 111.46
d = sV ) 277.98 = 1.081 (m)
R
e = B -d= 2:900 1.031 = 0.419 (m)
2 2
le] = 0.419 (m) 4%* B = 0.483 (m)



3)

Q:
= +
B L 1+ B

Q2

>V 6 e

277.98 6 x

178.95 (kN/m?)
12.76 (kN/m?)

):

178.95

2.000 x 1.000 * (1%

NN

0.419
2.900

No.

13



5.2.2

D

2)

No. 14

No v H X y Mr Mo
(k\) (k\) (m) (m) (KN_m) (KN_m)
1 34.99 0.593 | 1.188 20.75
2 215.29 1.558 | 2.328 335.42
3 75.98 | 2.900 | 1.467 111.46
2z 250.28 75.98 356.17 111.46
2
—
1
U
Fs = >V p +c B L _  250.28 x 0.577 + 0.0 x 2.900 x 1.000
- ZH - 75.98
= 1.90 Fsa = 1.5
2 Mr 356.17
Fs = s Vo 11146 3.20 Fsa = 1.50
R
2 Mr - Z Mo 356.17 - 111.46
d = sV ) 250.28 = 0.978 (m)
R
e = B -d= 2900 _ 0.978 = 0.472 (m)
2 2
1
le] = 0.472 (m) 5 B = 0.483 (m)



No.

3)

¢ _ ZV . 6e 250.28 , 6x 0472
¢ B L M5 )7 2000x 100 ¢ (L 2.900 )
170.58 (kN/m*)
2.02 (kN/m)

2.02

170.58

15
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No.

§6

6.1

00T v ,




6.2
6.2.1
1)
a = 3.04 ()
W= 11.43 (k\/m) [ 5.93]
w = 56.60 (°)
& = 20.00 (°)
@ = 30.00 ()
ba - 11.43 x sin(56.60 - 30.00)

cos (56.60 - 30.00 - 20.00 -

5.13 (kN/m)

3.04)

56.60°

L

L T DT
/A

Pa

8™

5O

% "4 50 6 70 80 100

w()
w Pa W
61.00 5.024 9.66
60.00 5.057 10.04
59.00 5.089 10.44
58.00 5.113 10.85
57.00 5.124 11.26
* 56.60 5.128 11.43

56.00 5.127 11.68
55.00 5.117 12.10
54.00 5.101 12.54
53.00 5.076 12.99
52.00 5.039 13.45

17



2)
Pa
a = 3.04(C) gki/m)y
W = 140.52 (kN/m) [ 28.33]
w = 5ro00¢> I/
o) = 20.00(0) 50.01
@ = 30.00 (C°)
25.01
0% "4 "0 6 70 80 100
w(®)
Pa 140.52 x sin(57.00 - 30.00)
cos (57.00 - 30.00 - 20.00 - 3.04)
=  63.95 (kN/m)
IR RN RO RO RO RRRR RN RN RO RR RN RR RO RONORAAA]
w Pa W
61.00 63.144 121.42
57.00° 60.00 63.493 126.05
59.00 63.748 130.78
58.00 63.890 135.58
* 57.00 63.947 140.52
56.00 63.895 145_.56
55.00 63.734 150.72
54.00 63.460 156.00
53.00 63.072 161.42
H =Pa cos(® +a) L
L ( ) L = 1.000 (m)
Pa o a H y
(kN/m) (D) (D) (kN) (m)
5.13 20.00 3.04 4.72 0.300
63.95 20.00 3.04 58.85 1.367

18



6.3
6.3.1

6.3.2

6.4
@

No.
H=4.72 (kN)
H y=4.72 x 0.300
= 1.42 (kN m)
H = 58.85 (kN)
H = 58.85 x 1.367
= 80.45 (kN m)

b = 1000 (mm) |ooooooo|J§>AL

d = 90 (mm)

As = D22 - 7.5 ! 1000 !

= 29.03 (cm’) = 2903 (mm*)
n = 15
n As 2 b d
= -1+ 1+ N AS
15 x 2903 2 x 1000 x 90

= X -1 + 1+

1000 15 x 2903
= 55.1 (mm)

M= 1.42 (kN m)
S = 4.72 (kN)
_ 2 M _ 2 x 1.42 x 10°
b x d- ‘%;’ 1000 x 55.1 x (90 - “52;1*)
= 0.72 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
- M _ 1.42 x 10°
- X - 55.1
As d - 3 2903 x (90 - 3 )

= 6.8 (N/mm?*) osa= 160 (N/mm*) 0.K.
_ s 4.72 x 10°
~ b d 1000 x 90
= 0.05 (N/mm*) Ta = 0.45 (N/mm*) 0.K.

19



No.

3]
3
b = 1000 (mm) ooooooo—N—
d = 260 (mm)
As = D22 - 7.5 1000
= 29.03 (cm’) = 2903 (mm*)
n = 15
n As 2 b d
X = b -1+ 1+ N AS
15 x 2903 2 x 1000 x 260
= X -1 + 1+
1000 15 x 2903
= 113.1 (mm)
M= 80.45 (kN m)
S = 58.85 (kN)
2 M 2 x 80.45 x 10°
oc= x 113.1
b x d - 3 1000 x 113.1 x ( 260 - 3' )
= 6.40 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
os = M B 80.45 x 10°
ps d - = 2003 x ( 260 - 1y
3 3
= 124.7 (N/mm*) osa= 160 (N/mm*) 0.K.
= S 58.85 x 10°
b d = 1000 x 260

0.23 (N/mm*) Ta = 0.45 (N/mm*) 0.K.



§7

7.1

@

)
)
2.600
A X
(m m ) (m A x (m)
2.600x 0.300= 0.780 1.300 1.0140
-1/2x 2.300x 0.170= -0.196 1.533 -0.3005
- 0.300x 0.170= -0.051 2.450 -0.1250
0.533 0.5885
A X 0.5885
X = s A = 0533 - 1.104 (m)
S =A yc L= 0.533 x 245 x 1.000 = 13.06 (kN)
M =S x = 13.06 x 1.104 = 14.42 (kN m)

a—_Lh]

No.

21



&)

A X
(m) (m) (m) (m) A x (m)
2.600x 4.270= 11.102 1.300 |  14.4326
a|-1/2x 2.300x 0.170= -0.196 0.767| -0.1503
10.906 14.2823
SA X 14.2823
X F 5 a7 10.006 - 30M

S =A ys L=10.906 x 19.0 x 1.000 = 207.21 (kN)

M =S x = 207.21 x 1.310 = 271.45 (kN m)

)

10.00 (kN/n?)

o
1]

S =g b L= 10.00 x 2.600 x 1.000 = 26.00 (kN)

x
1]

1.300 (m)

M =S x= 26.00x 1.300= 33.80 (kN m)




©)
D

2)

Q:
Q2

Qs

178.95 (KN/n?)

12.76 (KN/m?)
G + (G- G) 44%3,: 12.76 + ( 178.95 -  12.76)x ;:ggg
161.76 (KN/m*)
@ +q) I L ( 161.76 + 12.76) x 2.600 x 1.000
2 - 2
226.88 (KN)
L 2 g +q _ 2.600 2 x 12.76 + 161.76
3 o + O -3 12.76 + 161.76
0.930 (m)
S X = 226.88 x 0.930 = 211.00 (kN m)

170.58 (kN/n?)
2.02 (kN/m)

I,
O + (- Qz) B

153.14 (KN/m*)

= 2.02+( 170.58 -

2.600

2.02)x 2900

(@ +q) b L ( 153.14 + 2.02) x 2.600 x 1.000
2 - 2
201.71 (kN)
I 2 g +q _ 2.600 2 x 2.02 + 153.14
3 o + O -3 2.02 + 153.14
0.878 (m)
S x = 201.71 x 0.878 = 177.10 (kN m)

No.

23



7.2

iy
No S M
(kN) (kN m)
1 13.06 14.42
2 207.21 271.45
3 -226.88 -211.00
4 26.00 33.80
19.39 108.67
Mo = 80.45 (kN m) M
M = Mo
2)
No S M
(kN) (kN m)
1 13.06 14.42
2 207.21 271.45
3 -201.71 -177.10
18.56 108.77
Mo = 80.45 (kN m) M
M = Mo

80.45 (kN m)




7.3

No.
3
b = 1000 (mm) ooooooo—N—
d = 260 (mm)
As = D22 - 7.5 1000
= 29.03 (cm’) = 2903 (mm*)
n = 15
n As 2 b d
b -1+ 1+ T As
15 x 2903 2 x 1000 x 260
= 1+ /1 +
1000 15 x 2903
113.1 (mm)
M= 80.45 (kN m)
S = 19.39 (kN)
2 M _ 2 x 80.45 x 10°
b x d- Ag, 1000 x 113.1 x (260 - 112'1 )
6.40 (N/mm?*) o ca = 10.00 (N/mm*) 0.K.
M B 80.45 x 10°
ps d - = 2003 x ( 260 - 1y
3 3
1247 (N/mm?) osa= 160 (N/mm*) 0.K.
S 19.39 x 10°
b d =~ 1000 x 260
0.07 (N/mm*) Ta = 0.45 (N/mm*) 0.K.

25



No. 26

§8 ( )
( )
8.1
|
0 !j)o
@
A=b h= 0.300 x 0.130 =  0.039 (m)
S =A yc L= 0.039 x 24.5 x 1.000 =  0.96 (kN)
M =S x = 0.96x 0.150 =  0.14 (kN m)
@
A=b h= 0.300 x 4.270 =  1.281 (m)
S =A ys L= 1.281 x 19.0 x 1.000 = 24.34 (kN)

M =S x = 24.34x 0.150 =  3.65 (kN m)




3

©)
D

Q:

Qs

10.00 (kN/m*)

g b L=

0.150 (m)

S x =

10.00 x

3.00 x

178.95 (KN/n?)
12.76 (kN/n?)

g + (q1 -

0

1.
0z) B
29.95 (KN/m?)

0.300 x 1.000 =  3.00 (kN)
.50 = 0.45 (kN m)
0.300
= 1276 + ( 178.95 - 12.76)x — oo

(@ +q) b L ( 29.95+ 12.76) x 0.300 x 1.000
2 - 2
6.41 (kN)
I 2 g +g _ 0.300 2 x  12.76 + 29.95
3 o + O -3 12.76 + 29.95
0.130 (m)
S x = 6.41x 0.130 = 0.83 (kN m)

No.

27



8.2

2)

D

2)

No.

g = 170.58 (kN/m?)
g = 2.02 (kN/m)
G =g + (G- G) 44%3,: 2.02 + ( 170.58 -  2.02)x g:ggg
= 19.46 (kN/m)
s (@ +q) L L ( 19.46 + 2.02) x 0.300 x 1.000
2 2
= 3.22 (kN)
y I. 2 @ +qg _ 0.300 2 x 2.02 + 19.46
3 o + O T3 2.02 + 19.46
= 0.109 (m)
M = S x = 3.22x 0.109 =  0.35 (kN m)
No S M
(kN) kN m)
1 0.96 0.14
2 24.34 3.65
3 -6.41 -0.83
4 3.00 0.45
b3 21.89 3.41
No S M
(kN) kN m)
1 0.96 0.14
2 24.34 3.65
3 -3.22 -0.35
b3 22.08 3.44
S = 22.08 (kN)
Moo= 3.44 (KN m)

28



8.3

No.
b = 1000 (mm) |ooooooo|iqL
d = 90 (mm) ‘ 1000 ‘
As = D22 - 7.5 ! !
= 29.03 (cm’) = 2903 (mm*)
n = 15
n As 2 b d
b -1+ 1+ T As
15 x 2903 2 x 1000 x 90
= 1+ /14
1000 15 x 2903
55.1 (mm)
M= 3.44 (kN m)
S = 22.08 (kN)
2 M _ 2 x 3.44 x 10°
b x d- Ag, 1000 x 55.1 x (90 - 52'1 )
1.74 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
M B 3.44 x 10°
X - 55.1
As d - 3 2903 x (90 - 3 )
16.5 (N/mm*) osa= 160 (N/mm*) 0.K.
S 22.08 x 10°
b d 1000 x 90
0.25 (N/mm*) Ta = 0.45 (N/mm*) 0.K.

29



